
Ckn<Rv^k-bPknlPk

(SkTZkk^kPkk@ Uko%Zk WkcvTkêkm FkgUkkWkvTkTkk ¢gPk@YkkgQkm ^kcv\km Xkk^kXkmTkm

Xkl$Pk)

l^kRvc^kkbkm AckTkCkn< Xk@Pkv UkSkkZkkr @vä

bkn̂ kOkrUkn@mYkkg lTkPZkv FkwPkTZk@bk ^k@bZkk @v;

§HYkWkkTkv ÿk@ ¢lPk ¢kTkgR G^kkZkk @vå

¢k^kkv UkSkk@kv Ykk@k bkR~Ckn<Rv̂ kk;

#km #km A@ng PknH Fk@OkkvTkm bkv̂ kkå

l^kSkl^kSk @PTkkvTkk Qkk] Xk@k^kng @vä

l^kSkl^kSk Xkl$PkQkm Ckn<Tkv ^kSkk^kng @vååååål^kRvc0 1å

lR^Zk ¢Fk@HAk@m Ckn< ¢ckv! HkCZkk;

Uk|Xkk^k#kk]m bkgPk ¢HkvM UkSkkZkkrå

^kkOkmTkm Wkgbk@mQkm Wk|ôkgM Mkv\kv @vä

Ckn<–CknOkCkmPkkv CkCkTkYkkgcm CkkHv @vååååål^kRvc0 2å

êknPkk^kPkk@m ¢ckv! Ckn<Æ ¢Ykk@k;

¢CklOkPk Æ^kkvTkkg ¢gPk@ §Hk»Zkkgå

bkPZk Sk@YkTkk ¢kgWkk æMk @kvUZkk @vä

bkklPk#kZk CknOkSkk@m Ckn< CknOk^kgPkk @vååååål^kRvc0 3å

AkYkSkvTkn A\Uk^kpdk ¢ckv! Vl]Zkkg;

Xkkl^k PkOkk XkCk^kgPk YknH Ykl]Zkkå

¢TknUkYk SkYkrSkkv@m Ckn< XkCk^kgPkk @vä

lTk#klRTk ckvHkv PknH Fk@OkkvTkm bkv̂ kk @vååååål^kRvc0 4å

lTk#klRTk Ckn<ÆTkm ^kkK ¢Ykv HkvPkk;

¢Yk ¢gPkl@ZkkYkkg R#krTkTkm ¢k#kkå



bkn̂ kOkvr UkSkk@kv UknTk: ApUkk]nRv̂ kk @vä

¢TknXk^k^kkOkm Tkv R#krTk Rv̂ kk @v;úúúúúúúúúúúúúúúúúúúúúúúúúúúúúúúú
Xk^kXk^k ckvHkv Ckn<Fk@OkkvTkm bkv̂ kk @vååååål^kRvc0 5å

✽




